

Ex 043 by substitution:

$$\textcircled{1} \int \frac{1}{\sqrt{2-5x}} dx = ?$$

$$y = 2 - 5x, \quad dy = -5 dx \Rightarrow dx = -\frac{1}{5} dy.$$

$$\begin{aligned} -\frac{1}{5} \int \frac{1}{\sqrt{y}} dy &= -\frac{1}{5} \int (y)^{-1/2} dy \\ &= -\frac{1}{5} \left[\frac{1}{-\frac{1}{2}+1} y^{-1/2+1} \right] + C \\ &= -\frac{1}{5} (2 y^{1/2}) + C. \end{aligned}$$

So:

$$\begin{aligned} \int \frac{1}{\sqrt{2-5x}} dx &= -\frac{2}{5} (2-5x)^{1/2} + C \\ &= -\frac{2}{5} \sqrt{2-5x} + C. \end{aligned}$$

$$\textcircled{2} \int \frac{x}{\sqrt{4x+5}} dx = ?$$

$$y^2 = 4x+5 \Rightarrow 2y dy = 4 dx$$

$$\Rightarrow \boxed{\frac{1}{2} y dy = dx}$$



$$y^2 = 4x + 5 \Rightarrow x = \frac{y^2 - 5}{4}$$

$$y = \sqrt{4x+5}$$

$$\int \frac{x}{\sqrt{4x+5}} dx = \int \frac{\frac{y^2-5}{4}}{y} \left(\frac{1}{2} dy\right)$$

$$= \int \frac{y^2-5}{8} dy$$

$$= \frac{1}{8} \int (y^2 - 5) dy = \frac{1}{8} \left(\int y^2 dy - \int 5 dy \right)$$

$$= \frac{1}{8} \left(\frac{1}{3} y^3 - 5y \right) + C$$

$$= \frac{1}{8} \left(\frac{1}{3} \sqrt{4x+5}^3 - 5 \sqrt{4x+5} \right) + C$$

$$= \frac{1}{24} (4x+5) \sqrt{4x+5} - \frac{5}{8} \sqrt{4x+5} + C$$

$$(b) \int x \sqrt{x-1} dx$$

$$\boxed{y^2 = x-1} \Rightarrow \boxed{x = y^2 + 1}, \quad y = \sqrt{x-1}$$

$$\boxed{2y dy = dx}$$

$$\int x \sqrt{x-1} dx = \int (y^2 + 1) \cdot y \cdot 2y dy$$

$$= 2 \int (y^2 + 1) y^2 dy$$

$$= 2 \int (y^4 + y^2) dy$$

$$= 2 \left[\frac{1}{5} y^5 + \frac{1}{3} y^3 \right] + C$$

$$= \frac{2}{5} (x-1)^2 \sqrt{x-1} + \frac{2}{3} (x-1) \sqrt{x-1} + C$$

$$(4) \int \frac{x}{\sqrt{1-x^2}} dx = ?$$

$$\int \frac{1}{\sqrt{1-x^2}} \cdot x dx = ?$$

$$\boxed{y = 1 - x^2} \Rightarrow 2y dy = -2x dx$$

$$\Rightarrow \boxed{-y dy = x dx}$$

$$\int \frac{1}{\sqrt{1-x^2}} x dx = \int \frac{1}{y} \cdot (y) dy$$

$$= - \int 1 dy$$

$$= -y + C$$

$$\boxed{\int \frac{x}{\sqrt{1-x^2}} dx = -\sqrt{1-x^2} + C}$$

$$(5) \int \frac{e^x}{2+e^x} dx$$

$$y = e^x \Rightarrow \ln y = x$$

$$\Rightarrow \frac{1}{y} dy = dx$$

$$\int \frac{y}{2+y} \cdot \left(\frac{1}{y}\right) dy = \int \frac{1}{2+y} dy$$

$$= \ln |2+y| + C$$

$$\int \frac{e^x}{2+e^x} dx \Rightarrow \ln |2+e^x| + C$$

$$6) \int \frac{(\ln(x))^2}{x} dx = ?$$

$$y = \ln(x) \Rightarrow x = e^y$$

$$\Rightarrow dx = e^y dy$$

$$\int \frac{(y)^2}{e^y} e^y dy = \int y^2 dy$$

$$= \frac{1}{3} y^3 + C$$

$$\boxed{\int \frac{(\ln(x))^2}{x} dx = \frac{1}{3} (\ln(x))^3 + C}$$